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Fig. S1. Typical peak convolution of (a) Si and (b) N for 1~5 sccm NH; flow rate devices.
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Fig. S2. Negative forming and LRS current curve for 1~5 sccm NH; flow rate devices.



(3)10'5 |

1 scem, 100 pmz
positive sweep for pristine
----slope=1.13

L----slope =362

0.01

Ln(V)

(d)1 o7 _4Sccm, 100 ulmz

positive sweep for pristine

[----slope=115

----slope =421

001 041 1

Ln(V)

| (b) 1012 scem, 100 ym?

positive sweep for pristine
7 [----slope=1.11

10 ¢ sop

----slope =3.99

10" L ‘ ‘
0.01 0.1 1
7 Ln(V)
(e) 108 5sccm, 100 ym®
107 £ positive sweep for pristine
gf----slope=1.17
10 F----slope =450

(c) 3 scem, 100 um*
10 Fpositive sweep for pristine

c
—

3 ----slope=1.20
107 F---- slope = 4.32
107}

10—107
107"
10—12

Fig. $3. Ln(l) vs. Ln(V) are drawn for pristine (a) 1 sccm, (b) 2 sccm, (c) 3 sccm, (d) 4 sccm and (e) 5

sccm, respectively.
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Fig. S4. Ln(l) vs. Ln(V) are drawn for HRS (a) 1 sccm, (b) 2 sccm, (c) 3 sccm, respectively.
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Fig. S5. Ln(l) vs. 1/T are drawn for pristine (a) 1 sccm, (b) 2 sccm, (c) 3 sccm, (d) 4 sccm and (e) 5 sccm,

respectively.
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Fig. S6. E, vs. Voltage are drawn for pristine (a) 1 sccm, (b) 2 sccm, (c) 3 sccm, (d) 4 sccm and (e) 5

sccm, respectively.
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Fig. S7. Ln(l) vs. 1/T are drawn for HRS (a) 1 sccm, (b) 2 sccm and (c) 3 scem, respectively.
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Fig. S8. E, vs. Voltage are drawn for HRS (a) 1 sccm, (b) 2 sccm and (c) 3 sccm, respectively.



